1.1" Distortionless Macro Lens / #1200/, 1.15/4k $RELEMIERES

DVL Series EH [ E3

5120075, 1.13<F/4K 53R
(& SSEREEES

© 3ASumpIHER
.« 4ANEIS: £25. 135, f50. f75mm
- ERTIZMA (EI{RER)

Iz FASEf

INETEM

HE DV
500.0 [0.14x] 90.4 (0. 14x]
500.0 0.07x] 45.0 (0.07x) 500.0 C0.10x] 57.5 [0.10x] ~150.0 [0. 40x) ~109.9 [0.40x) 17,526
~150.0 (0.24x) ~50. 94 [0.24x]) 17.526_ ~150.0 (0. 36x] ~70.25 [0.36x] 17.526 (WD)
(WD) (WD) 4
4 4
n ]
3 = € |8 L 18l |sg -
TS s g i 5 S| S
U3 m | N \
C-mount [C-mount
2-M2 Lock screw, Lemount
562.5 (0.07x) ~218.5 (0.24x] (0/D) 575.0 (0.10x) ~237.8 (0.36x) (0/D) 607.9 [0.14x) ~277.4 (0.40x) (0/1)
N + SR — s
L J%#E12005 1.158T7% B EERERIRLT
4/3" IS
IS
=
DVL-L o
11" y K
1
M ‘
2/3 I
&
-0. NS 2= 0.5
FERT A 0 LT (%)
75 =
Z2=: DVL-50
M DVL-35 DVL-50 DVL-75
FERIEE () mm 35 50 75
FEIEE x0.07 ~ x0.24 x0.10 ~x 0.36 x0.10 ~x 0.4
St x 0.07 | x0.18 x0.24 x0.10 x 0.26 x 0.36 x0.14 x0.32 x 0.4
1.1 1471 x 201.4mm | 57.2x783 mm 42.9 x 58.8 mm 103.0 x 141.0 mm 39.6x 54.2 mm 28.6x39.2 mm 73.6x100.7 mm 32.2x44.1 mm 25.8x35.3 mm
FOV (Vx H) 1" 160.9 x 160.9 mm | 62.6x 62.6 mm 46.9x 46.9 mm 112.6x 1126 mm | 43.3x43.3 mm 31.3x31.3mm 80.4x 80.4 mm 35.2x35.2mm 28.2x28.2 mm
2/3"  101.4x120.0mm | 39.4x46.7 mm 29.6 x 35.0 mm 71.0x 84.0 mm 27.3x32.3 mm 19.7x23.3 mm 50.7x60.0 mm 22.2x26.3 mm 17.8x21.0 mm
WD 500.0 mm 200.0 mm 150.0 mm 500.0 nm 200.0 nm 1500 nm 500.0 nm 200.0 mm 150.0 mm
PRIEREE0/ | 562.5 mm 268.8 mm 218.5 mm 575.0 mm 283.0 nmm 237.7 nmm 607.9 mm 3211 mm 2774 mm
SEHF kmeFF 3.8 4.2 44 3.8 44 4.7 4.4 4.9 5.1
TR FVFEELIE 00, 04mm 620 nmm 104  mm 6.1 nmm 304 nmm 52 nmm 29 nmm 180 mm 38 mm 26 mm
TVERE (1) 009 % -004 % : -008 % 009 % -002 % -005 % 010 % -008 % -013 %
EiaE (¥=8.8) N % : R % : B % 90 % : %5 % % % 95 % % % 97 %
BIEE Manual  ( Lock Screw M2 Manual  ( Lock Screw M2 ) Manual  ( Lock Screw M2 )
A Visible Visible Visible
#0 C-Mount C-Mount C-Mount
EETH 11" 11" 11"
REOR M30.5 P=0.5 M30.5 P=0.5 M40.5 P=0.5
EE - g 126 g 285 g

HOURS

PEEE————
www.hours-web.com

17



4/3”Distortionless Macro Lens, 4/3" 54 #s=(RcE MBS L

18

DVL-L

¥4/

Series

"R, CEO

RELE, SBTERIT. NSWEMESL,
BEINMFTREY (EERZ10mMMESOMmM) , BEKHNIGA

EEABET,
BERIERIT

FHRRHIRA T R

189.6 (0. 05x]
~63.1 (0. 16x] (WD)

43 .2

FHMER

232.0 (0.05x)

88.1 (0.05x] ~83.1 (0.15x]

285.2 (0. 05x])

3

v 95841

$74.5
$73.5

295.2 [0.05x) ~153.7 (0. 15x]

82
©

il
=£4{>

2-M2 Lock screw/
/1

-1

347.0 (0. 05x)

FHRR

FHMRR

386.4 (0.05x]

~40.9 (0.2x) (WD) 86.1 0.05x) ~84.3 (0.2x) 17.526 ~56.8 (0.2x] (WD) 86.1 (0.05x) ~81.5 (0.2x] 17.526
e 2-M2 Lock screw 4

e e | |
7 |k

8 o 3 o — &

s £ © X — b

e
C-mount — C-mount
335.6 (0.05x) ~142.7 (0.2x) (0/I) 388.9 [0.05x) ~155.9 (0.2x] (0/1)

25L

493.0 (0. 05x]

FHERR

~53 8 [0.25x) (WD) 83.8 [0.05x) ~82.3 (0. 25x] 17.526 ~61.8 [0.25x] (WD) 83.6 [0.05x) ~83.1 [0.25x] 17.526 ~66.0 (0.3x] (WD), 82.8 [0.05x) ~84.9 (0.3x] 17.526
e A _l
—— 15[ E= m_ [ ——ETE= m_
o S [z w0l w0 I [=
= 2 o
o |2 e o |9 o g — .| I
| o — | | o —
g 3 g — ¢ g 3 g ¢ g 3 g ¢
C-mount C-mount C-mount
2-M2 Lock screw/ 2-M2 Lock screw 2-M2 Lock screw
448.3 [0.05x) ~153.6 [0.25x) (0/1) 487.5 [0.05x) ~162.4 (0.25x) (0/1) 593.3 [0.05x) ~168.4 0.3x) (0/I)

DVL-10L DVL-12.5L DVL-15L
j=3i] 10 mm 12.5 mm 15 mm
TEEE (0) x 0.05x ~ 0.15x (00) x 0.05x ~ 0.2x (2°) x 0.05x ~ 0.2x
SFEE 0.05x ! 0.1x 0.15x 0.05x ! 0.1x 0.2x 0.05x . 0.1x ! 0.2x
. 4/3" 272.0x3620mm | 136.0x 181.0mm © 90.7 x 120.7 mm 272.0x3620mm ' 136.0x181.0mm | 68.0x 90.5 mm 2720x3620mm | 1360x181.0mm | 68.0 x 90.5 mm
n 1" 225.2x225.2mm | 1126x1126mm | 75.1x75.1 mm 2252x2252mm | 112.6x1126mm . 56.3 x 56.3 mm 2252x2252mm | 1126x1126mm | 56.3 x 56.3 mm
(VxH) g g 2 S ’ 2

2/3" 142.0x168.0mm : 71.0x840mm | 47.3x56.0 mm 142.0x1680mm | 71.0x84.0 mm 35.5 x 42.0 mm 1420x1680mm | 71.0x840mm | 35.5x42.0 mm
WD 189.6mm | 872mm . 53.1mm 232.0mm __ © 1043mm | 40.9mm 2852mm | 132.5mm ! 56.8 mm
MERER 2952mm | 190.Tmm | 1537 mm 33.6mm | 207.2mm | 1427 mm 3889mm | 2342mm | 155.9 mm
SEHF RELTF 2.9 : 3.0 : 3.1 2.5 : 2.6 2.7 2.1 3 2.2 : 2.3
TVAE -0.33 % ] -0.68 % ] -0.92 % 0.33% : 0.05 % : -0.40 % -0.14 % j -0.36 % ] -0.64 %
BIESE Manual(Lock Screw M2) Manual(Lock Screw M2) Manual (Lock Screw M2)
EESH 4/3" 4/3" 4/3"
RIEOR - M62 P=0.75 M49 P=0.75
3 450 g 380 g 330g
Mg DVL-18L DVL-20L DVL-25L
j=35) 18 mm 20 mm 25 mm
TEEE () x 0.05x ~ 0.25x (e0) x 0.05x ~ 0.25x (0) x 0.05x ~ 0.3x
&S 0.05x : 0.15x . 0.25x 0.05x : 0.15x . 0.25x 0.05x ! 0.15x : 0.3x
ne 413" 2720x3620mm ! 90.7x120.7mm | 544 x72.4 mm 2720x3620mm | 90.7x120.7mm | 54.4x72.4mm 272.0x3620mm | 90.7x120.7 mm | 453x60.3mm

(VxH) 1" 2252x2252mm i 75.1x75.1mm | 45,0 x 45.0 mm 2252x225.2mm | 75.1x75.1mm | 45.0 x 45.0 mm 2252x225.2mm | 75.1x75.1mm | 37.5x37.5 mm

2/3" 1420x1680mm ' 47.3x56.0mm | 28.4x 33.6 mm 142.0x168.0mm ! 47.3x56.0 mm 28.4 x 33.6 mm 142.0x1680mm | 47.3x56.0 mm ! 23.7x28.0mm
WD 347.0mm | 102.2mm 53.8 mm 386.4 mm | 1154 mm 61.8 mm 493.0mm | 150.7 mm | 66.0 mm
WIREIER 448.3 mm . 2025mm | 153.6 mm 487.5 mm . 2161 mm | 162.4 mm 593.3mm | 2517 mm | 168.4 mm
LW KRBT 2.1 ' 2.2 . 2.3 2.1 : 2.2 : 2.3 2.1 ! 2.3 ; 2.5
TVEE -0.28 % | -0.40% -0.49 % -0.10 % | -0.22 % -0.30 % -0.13% | -0.19% | -0.24 %
BIERE Manual(Lock Screw M2) Manual(Lock Screw M2) Manual (Lock Screw M2)
EATH 4/3" 4/3" 4/3"
wEOR M43 P=0.75 M43 P=0.75 M43 P=0.75
B2 320 g 310g 2859

HOURS

www.hours-web.com



4/3"Distortionless Macro Lens DVL-L Series

g

357 - 357 = Rov g
DV =S Y DVL-35L FNRSR DVL-50L A B
595.3 (0. 05x] 706.6 (0. 05x] 1012.4 0. 05x)
~93.1 [0.3xJ_(WD) 85 17.526 ~129.5 [0.3x] (D) 825 17.526 ~205. 4 (0.3x) (WD) 73 17.526
4 4 4
] — ]
2 — 2 2 -
w0 ﬁ < ] w0 w0 E = ) © E ©
3£ = g 3 g Sl ¢ g g g ¢ g
(ol o — =R
2 o | -‘\ \
2-M2 Lock screw C-mount 2-M2 Lock screw C-mount C-mount.
697.8 [0.05x] ~195.6 0.3x] (0/1) 806.6 (0.05x) ~229.5 (0.3x) (0/I) 1102.9 (0.05x) ~295.9 0.3x) (0/1)
g DVL-30L DVL-35L DVL-50L
=31 30 mm 35 mm 50 mm
TEEE (°0) x 0.05x ~ 0.3x (c0) x 0.05x ~ 0.3x () x 0.05x ~ 0.3x
pircalizE S 0.05x . 0.15x ! 0.3x 0.05x . 0.15x . 0.3x 0.05x : 0.15x : 0.3x
4/3" 272.0x3620mm | 90.7x 120.7 mm | 45.3 x 60.3 mm 272.0x3620mm | 90.7x120.7 mm | 45,3 x 60.3 mm 2720x3620mm | 90.7x120.7mm | 453x60.3 mm
( \*}’-‘Lg’; ) 1" 225.2x2252mm | 751 x75.1mm | 37.5x37.5mm 2252x2252mm | 751x75.1mm |  37.5x37.5mm 2252x2252mm | 751x75.1mm | 37.5x37.5mm
s 243" 1420x1680mm | 47.3x56.0mm ' 23.7x28.0mm 1420x1680mm | 47.3x560mm |  23.7x28.0 mm 1420x1680mm | 47.3x56.0mm | 23.7x 28.0 mm
WD 595.3mm | 191.8mm ! 93.1 mm 706.6 mm | 239.2mm | 129.5 mm 10124 mm ©  3565mm 205.4 mm
WRBER 697.8mm | 2043mm ! 195.6mm 806.6 mm | 339.2mm | 229.5 mm 11029 mm | 447.0mm | 295.9 mm
SLfTF* 2.2 ' 2.4 ! 2.7 2.2 ' 2.5 . 3.0 2.2 : 2.6 ' 3.2
TV&E -0.08 % L -0.04% | -0.04 % -0.15 % L -0.14% ] -0.10 % -0.01 % ] -0.08 % ] -0.09 %
BIESE Manual (Lock Screw M2) Manual(Lock Screw M2) Manual (Lock Screw M2)
BEETHA 4/3" 43" 4/3"
BEOR M46 P=0.75 M46 P=0.75 M46 P=0.75
B 310g 295 g 250 g
——
AN
KELRE
L %3 0.15x LEHE i@ (EfEEL 0.15x SEE

!I!I

HABFNRGR?
EEFELBEIBNENMEREAMRE. WNNFHRE (DTE ) EEMENENRGERENER.
HEEAZFHMREAEMITHERREA, IRTREEAEBNIERAENGENERN.
ATHMIERAAEE NMEEBREXRNONGA, RLFHNRENNBARRNGELERL .

FENRSE EREEEES

HOURS '°

www.hours-web.com



Distortionless Macro Lens.  BF &= kLB MEEL

DVL-LA Series

Al TR ENEREEMESE:L.
EREBE4AMmM~75mm, 10XELT %R,

AN NABMENSEMER. THEEBURSRNHEK,
TR B RO E BY X AT MRS TR B IR T 0% HERE .

l%iv

KEEMWEE

TEEEER B LY

SLUERNCCTVRII—1, BERZEEWMATENE.
BRENEEEREXR, I CEBRARERSTFER.
BENEERREEE, BLXES,
AXMSHLLEEGRBA .

EEBCCTVHEL

' -.

v

v
BT KB

| DVL-4LA [ DVL-6.5LA IENEEENEEN DVL.-10LA NN OVL.-15.A I

EBCCTVHE:L

403.2 [0.01X) 20.0 £0.01X) 653.2 £0.01X] 25.9 (0.01X) 330.2 (0.03X) 2.3 10.03X) 489.2 [0.03X) 29.5 [0.03X)
~92.7 (0.04X) (WD) _ ~29.2 (0.04X) 17.526_ ~95.2 [0.06X) (WD) _~26.2 (0.06X) 17. 526, ~91.0 (0.10X) (WD) _~28.0 (0.10X) 17.52%_ ~88.9 [0.15%) (WD) _ ~31.3 0.15X) 17.526
4 4 4 4
.3 1.5 1 A
] =
% == % =
7 xiéw S . 7 ; IR o |
S~ | : —| 8 g o = I~ —— || I g ® = & o 3
® T & S 9 S S i S [
=9 g ﬁh =
3]]1] L C-mount
G-mount i 2-M2 Lock screw
2-M2 Lock screw L-mount | C-mount 2-M2 Lock screw | C-mount
449.7 [0.01X) ~139.4 (0.04X) (0/D) 696.6 (0.01X) ~138.9 (0.06X) (0/1) 375.0 £0.03X) ~136.5 (0.10X) (0/D) 536.2 [0.03X) ~137.7 [0.15X) (0/1)

DVL-6.5LA DVL-10LA
b 4 6.5 10 15
TfEEE (0) x 0.01x ~ 0.04x () x 0.01x ~ 0.06x (0) x 0.03x ~ 0.10x (e0) x 0.03x ~ 0.15x
KFEE 0.01x : 0.016x . 0.03x . 0.04x 0.01x | 0.02x | 0.04x . 0.06x 0.03x . 0.056x | 0.08x . 0.10x 0.03x | 0.06x ; 0.10x ; 0.15x
213" - = - 236.7x280.0 ' 118.3x 140.0 | 71.0x840 | 47.3x56.0
(VxH) 1/2" 480.0)(640.05 300.0 x 400.0 E160.0x213.3 E 120.0 x 160.0 480.0x640.05 240.0x320.05 120.0 x 160.0 : 80.0x 160.7 160.0x213.3 E 96.0x128.0 3 60.0 x 80.0 E 48.0x640  160.0x213.3 | 80.0x 106.7 3 48.0x 64.0 3 32.0x42.7
1/3"" 360.0x480.0 ' 225.0x300.0 :120.0x 160.0 1 90.0x120.0  360.0x480.0 ' 180.0x240.0 : 90.0x 120.0 ' 60.0x80.0 120.0x160.0 : 72.0x96.0 ' 45.0x60.0 ' 36.0x480  120.0x160.0 : 60.0x80.0 ' 36.0x480 ' 24.0x32.0
WD 403.2mm | 247.9 mm :127.2mm | 927 mm  653.2 mm : 3184 mm | 151.0 mm | 952 mm  330.2mm ; 193.5mm ; 116.7 mm ; 91.0 mm  489.2 mm . 239.0 mm : 138.9 mm . 88.9 mm
WREES 449.7 mm | 294.5 mm !173.9 mm ! 139.4 mm _ 696.6 mm ' 361.9 mm ' 194.6 mm ' 138.9 mm  375.0 mm ! 238.5 mm ' 162.0 mm :136.5 mm  536.2 mm ! 286.4 mm ' 186.9 mm ! 137.7 mm
SEMF KBS 2.1 . 2.1 . 2.1 . 2.1 223] | 253] | 253] | 253] 2.3 . 2.3 | 2.4 . 2.4 2.1 ' 2.1 | 2.1 | 2.2
=R 1680.0mm ! 656.3mm | 186.7mm | 105.0mm  1840.0mm ! 460.0mm ! 115.0mm ! 51.1mm 204.4mm | 73.6mm | 30.0mm . 19.2mm 186.7mm | 46.7mm | 16.8mm | 7.8mm
TVERE -0.23% | -0.23% : -0.24 % : -0.24 % 0.16 % : 0.09% | -0.06% | -0.18% 0.03 % : 0.01 % 1 -0.02 % : -0.04 % -0.01 % ' -0.02 % : -0.05 % : -0.09 %
BIEAE Manual (Lock Screw M2) Manual (Lock Screw M2) Manual (Lock Screw M2) Manual (Lock Screw M2)
EETH 12" 142" 12" 2/3"
EEOR M27 P=0.5 M27 P=05 M27 P=0.5 M27 P=0.5
BE 499 40g 42g 469

20 HOURS

www.hours-web.com




Distortionless Macro Lens DVL-LA Series

DVL-25L

31.0 (0.04X) 33.5 (0.05X)
510.3 (0.04X] ~86.6 (0.22X] (WD) ~34.7 [0.22X] _17.526, 508.2 [0.05%] ~100.2 (0.25X] (WD) ~38.6 (0.25X]  17.526
|4 |4

o g o] H

I z
g- 1N a 2 SN :
3 S 1 | 39 F I

C-mount C-mount
2-M2 Lock screw 2-M2 Lock screw
558.8 (0.04X] ~138.8 (0.22X] (0/1) 559.2 [0.05%] ~156.3 (0.25X) (0/1)
36.5 [0.3X]
381.6 (0.08X) ~141.5 (0.23X] (WD) 32 17.526, 142.9 (0.3¥) ~96.1 (0.5X] (WD) ~43.5 [0.5X] 17.526,
4 —— 4 ——

o) g &y

o | T - o |1
s ~ o : ~ L
498 TIEEH 988 T
C-mount C-mount.
2-M2 Lock screw 2-M2 Lock screw
431.1 (0.08X] ~191.0 (0.23X) (0/1)
196.9 (0.3X) ~157.1 (0.5X) (0/1)

[ DVL-50LA |

45.0 0.1X) ~ ~
512.4 (0.1 ~221.5 £0.25%) (D) ~52.3 (0.25X) 17,526 527.5 [0.15X] ~245.6 [0.35K] (WD) 71.0 [0.15X) ~85.8 [0.35X) 17.526

I
|
|

C-mount \
2-M2 Lock screw 2402 Lock screw

6

$29
M27P=0.5
$30.5
$29
M27P=0.5
0}

$30.5

98750
1 U 91-8-8F
w1 70 sfo X

C-mount.

6.0 (0.15X) ~348.9 [0.35X) (0/D)

574.9 (0.1X] ~291.3 [0.25X] (0/1)

DVL-20LA DVL-25LA DVL-30LA
15 20 25 30
TEEE 0.04x ~ 0.22x 0.05x ~ 0.25x 0.08x ~ 0.23x
FFfEE 0.04x | 0.08x | 0.5x . 0.22x 0.05x . 01x | 020x |  0.25x 0.08x  010x | 0.20x | 0.23x
o 2/3" 1775x2100 | 888x1050 | 473x560 | 323x38.2 14201680 | 71.0x840 | 355x420 | 284x336 88.8x1050 | 71.0x840 | 355x420 | 30.9x365
(vxH) 172" 1200x160.0 | 60.0x800 | 320x427 | 21.8x29.1 960x1280 | 480x640 | 240x320 | 192x256 60.0x80.0 | 480x640 ' 240x320 | 209x27.8
1/3" 90.0x1200 | 450x600 | 240x320 | 164x218 720x960 | 360x480 | 180x240 | 144x192 45.0x60.0 | 36.0x480 | 180x24.0 | 157x20.9
WD 510.3mm | 251.3 mm ' 130.5mm | 86.6 mm 5082mm | 2532mm | 1257mm_ ! 100.2mm 381.6mm ' 307.2mm : 1602mm | 141.5mm
WEBES 558.8 mm | 300.6 mm | 181.3 mm | 138.8 mm 5592mm | 3055mm | 1805mm . 156.3mm 4311mm | 3667mm | 2097mm | 191.0mm
SCHF SHESTF 2.1 22 23 . 23 2.1 : 22 ¢ 24 : 26 24 T 24 T 27 T 28
=R 105.0mm | 27.5mm | 82mm |  3.8mm 67.2mm | 17.6mm | 4.8mm | 3.3mm 30.0mm | 19.2mm | 11.8mm | 5.4mm
TVER 20.01% | -005% | -012% . 017% 006% |  0.02% | -004% . -0.06% 008% | 0.05% ' -004% . -0.06%
BESE Manual (Lock Screw M2) Manual (Lock Screw M2) Manual _(Lock Screw M2)
EARE 2/3" 273" 2/3"
EEOR M27 P=05 M27 P=0.5 M27 P=05
£ 479 49¢g 479
g DVL-35LA DVL-50LA DVL-75LA
£ 35 50 75
TiEEE 0.3x ~ 0.5x 0.1x ~ 0.25x 0.15x ~ 0.35x
pia- i 0.30x . 0.35x ; 0.40x . 0.50x 0.10x |  0.15x |  0.20x . 0.25x 0.16x | 0.20x . 030x . _ 0.35x
ne 2/3" 237x280 | 203x240 | 178x210 | 142x168 71.0x840 | 473x560 | 355x420 |  284x336 473x560 | 355x420 | 237x280 | 203x240
(vxH) 127 160x213 | 137x183 | 120x160 | 96x128 480xBA0 | 320x427 . 240x320 . 192x756 320x427 | 240x320 | 160x213 | 137x183
1/3" 120x160 | 103x137 | 90x120 | 72x96 360x480 | 240x320 | 180x240 .  144x192 240x320 | 180x240 ' 120x160 |  103x137
WD 1429 mm | 1262mm | 1137mm | 96.1 mm 5124 mm | 350.8 mm | 270.0mm ; 221.5mm 527.5mm | 404.2mm ; 2809 mm ; 245.6 mm
YREIEE 1969mm | 1820mm | 1712mm | 157.1 mm 5749 mm | 4157 mm | 337.4mm .  291.3 mm 616.0 mm | 496.4 mm | 380.5mm | 348.9 mm
SLF SEBESFF 25 26 27 ' 29 2.7 ' 28 ! 2.9 : 3.1 4.1 ! 42 44 4.5
=R 22mm | 17mm_ | 14mm_ | 09mm 21.6mm | 10.0mm | 59mm i 3.9mm 14.6mm | 84mm | 3.9mm | 2.9mm
TV&E 002% . 001% | 001% ' 0.00% 0.03% | 002% | 001% |  0.00% 003% | 002% : 000% . -0.01%
BIERE Manual (Lock Screw M2) Manual (Lock Screw M2) Manual (Lock Screw M2)
EARKE 2/3" 23" 2/3"
Pt mpcd M27 P=05 M27 P=05 M27 P=05
582 58 g 76 g 92g

HOURS 2’

www.hours-web.com



Distortionless Macro Lens DVL-LA Series

I - fERR

DVL-6.5LA DVL-10LA DVL-15LA | DVL-20LA DVL-25LA DVL-30LA DVL-35LA DVL-50LA DVL-75LA

6.5 f10 120 25 30 35
650~95mm 330~90mm 500~90mm 500~90mm 500~100mm 400~150mm 150~100mm 500~200mm 530~250mm
4032 1+ 927 6532 1 952 330.2 ' 91.0 489.2 1 88.9 5103 ' 86.6 508.2 100.2 381.6 ' 1415 1429 ' 96.1 5124 '+ 2215 527.5 1 245.6

172" 480.0x640.0,120.0x160.0 480.0x640.0,80.0x106.7 160.0x213,3,48.0x64.0 160.0x213.3) 32.0x42,7 120.0x160.0,21.8x29.1 96.0x128.0,19.2x26.6 60.0x80.0,20.9x27.8 16.0x21.3| 9.6x12.8 48.0x64.0,19.2x26.6 32.0x42.7|13.7x18.3

o 360014800, 90.0x120.0 360.0x480.0,60.0x80.0 120,0x160.0}36.0x48.0 120,0x160.0/24.0x32.0 90.0x120.0 |16.4x21.8 72.0x96.0|14,4x19.2 45.0x60.0|15.7x20.9 12.0x16.0| 7.2x9.6 36.0x48,0|14,4x19,2 24,0x32.0,10.3x13.7
85 0.010x | 0.040x  0.010x | 0.060x  0.030x : 0.100x 0.030x | 0.150x 0.040x | 0.220x 0.050x . 0.250x  0.080x . 0.230x 0.300x | 0.500x  0.100x | 0.250x  0.150x | 0.350
) ' 624 | 332 1183 | 573 2071 | 708 3161 | 773 3625 | 927 3158 | 1350  137.6 | 942 4683 ' 2141 5055 | 2415
o5 2 i 56.5x75.3i35.6x47.4 60.8x81.0i32.2x43.0 76.2x101.6i26.2x35.0 75.0x100.0519.7x26.2 68.6x91.4i17.8x23.7 49.5x66.0519.4x25.9 15.3x20.4i 9.3x12.5 43.6x58.2i18.5x24.6 30.6x40.8313.4x17.9
1/3" i 42,0x56.5126,7x35.6 45,6x60.8124,2x32.2 57.1x76.2119,7x26.2 56,3x75.0114,8x19.7 51.4x68,6113.3x17.8 37.1x49,514,6x19.4 115x15,31 7.0x9.3 32.7x43,6/13,8x18.5 22,9x30,6110,1x13.4
g o 0.085x ' 0.135x  0.079x ' 0.149x  0.063x ' 0.183x  0.064x ' 0.244x  0.070x ' 0.270x  0.097x ' 0.247x  0.314x ' 0.514x  0.110x ' 0.260x  0.157x ' 0.357x
WD 0 0 686 | 403 1436 | 580  207.8 | 697 2847 | 865 2720 | 1251 1326 | 923 4283 | 2065 4853 | 2315
, l l 88.0x88.0556.9x56.9 116.1x116.1551.9x51.9 1zs.ox1zs.oi4z.ox42.o 126.5x126.5339.0x39.0 99.6)(99.6542.8)(42.8 34.2x34.2321.3x21.3 93.1x93.1541.5x41.5 68.7x68.7330.9x30.9
13" | ' 55,5X65.6135,9x42.4 73.2x86.6132.7x38.7 80.7x95.5'26,5x31.3 79.8x94.4124,6x29.1 62.8x74.3127.0x31.9 21.6x25,5113.4x15.9 58.7x69.4'26.2x31.0 43.3x51,2119,5x23.1
fER g i 0.128x | 0.198x  0.097x | 0.217x  0.088x | 0.268x 0089 | 0289  0.113x | 0.263x 0329 ' 0529x  0.121x | 0271x  0.164x | 0.364x
WD 0 i 468 | 302 1043 | 489 1774 | 634 2321 | 807 2373 | 1251 1282 | 906 3977 | 2001 4694 | 2342
s 2 i i 27.3x36.4119.5x26.0 36.9x49.2119.2x25.6 42.9x57.1116.4x21.9 44.0x58.7 15,5x20.7 36.9%49.2117.1x22.9 14.0x18.71 8.8x11.8 36.6x48.9.17.1x22.8 28.2x37.6/13.0x17.3
13" g g 20.5x27.3'14.6x19.5 27.7x36.9' 14.4x19.2 32.1x42.9'12.3x16.4 33.0x44.0/ 11.7x15.5 27.7x36.9'12.9x17.1 10.5x14.0' 6.6x8.8 27.5x36.6!12.8x17.1 21.2x28.2! 9.7x13.0
R \ \ 0.176x | 0.246x  0.130x , 0.250x  0.112x , 0.292x  0.109x , 0.309x  0.130x , 0.280x  0.343x | 0.543x  0.131x , 0.281x  0.170x , 0.370x
WD . i . 80.9 | 419 1436 | 578 1974 | 760 2106 . 1121 1242 | 890 3715 . 1942 4522 | 2305
, ' ' ' 69.1x69.1!39.8x39.8 82.2x82.2'35.5%35.5 83.0x88.0!34,3x34,3 76.6x76.6'37.9x37.9 31.5x31.5120.2x20.2 79.9x79.9'38.7x38.7 63.6%63.6/29.9x29.9
13" ! ! 0 43.6x51.5!25.1x29.7 51.8x61.3|22.4x26.5 55.5x65.6!21.6x25.6 48.3x57.1.23.9x28.3 19.9x23.5!12.7x15.1 50.4x59.6.24.4x28.9 40.1x47.5,18.8x22.3
155 : i : 0.163x 1 0.283x  0.137x | 0.317x  0.128x | 0.328x  0.147x . 0.297x  0.357x | 0557x  0.141x .| 0291x 0177 | 0377x
WD i | i | 661 | 374 1019 | 554 1280 | 866 1052 | 80.6 2664 ' 1650 3736 | 2112
s V2 0 0 0 0 17.1x22.8'10.4x13.9 19.5x26.0/10.8x14.3 19.4x25.9'12.1x16.1 10.8x14.4' 7.5x10.0 23.6x31513.6x18.1 22.0x29.4!11.5x15.3
143" i i i i 12.8x17.1: 7.8x10.4 14.6x19.5) 8.1x10.8 14.6x19.4 9.1x12.1 8.1x10.8 | 5.6x7.5 17.7x23.6.10.2x13.6 16.5x22.0| 8.6x11.5
155 i i i i 0281x | 0.461x  0.246x | 0.446x  0.247x | 0.397x  0.443x | 0.643x 0203 ' 0.353x  0.218x | 0.418x
WD ' ! ' ' ' 559 | 379 792 | 643 860 | 707 1861 | 1339 2938 | 18638
P i i i i i 25.5x25.5317.5x17.5 27.3x27.3520.0x20.0 19.2x19.2314.3x14.3 36.8x36.8524.7x24.7 39.5x39.5323.2x23.2
1/3" | | | | | 16.1x19.0111.1x13.1 17.2x20.3112.6x14.9 12.1x14.41 9.0x10.7 23.2x27.5115.6x18.4 24.9x29.5 14.6x17.3
1 ! ! ' ' ' 0.442x | 0.642x 0413« ' 0.563x  0.585x | 0.785x  0.306x ' 0456x  0.285x ' 0.485x
) ! ! ! ! | | 583 | 521 742 | 638 1462 | 1144 2438 | 168.0
5 V2 ' ' ' ' ' ‘ 3.3x11.05 6.6x88 6.6x8.8 ‘ 5.2x6.9 11.7x15.ei 8.6x11.4 13.6x18.13 8.7x11.6
13" | ' | ' ' w 6.2x8.3 | 49x6.6 4.9x6.6 | 3.9x52 88x11.7 ' 6.4x8.6 10.2x13.6' 6.5x8.7
& | \ | . . | 0.580x | 0.730x  0728x | 0.928x  0.409x | 0.559x  0.353x | 0.553x
wD ' : ' : ' | 467 | 445 663 | 588 1221 | 1007 2104 | 1536
o | | | | i i 6.4x8.6 ' 5.4x7.1 55x7.3 | 45x6.0 9.4x125 1 7.2x9.7 11.4x15.2) 7.7x103
1/3" ' ' ' ' ' ! 4.8x6.4 | 4.0x54 4.1x55 | 3.4x45 7.0x94 | 54x7.2 86x11.4 | 58x7.7
fEs i i i i 0 i 0.747x | 0.897x  0.871x | 1.071x  0513x | 0.663x  0.420x | 0.620x
wD i | i | | | 394 | 393 606 | 549 1063 | 909 1858 | 1418
s 2 ' ' ' ' ' ! 5370 | 45x6.0 4Tx63 | 40x63 7.80104 ' 6384 9.8x13.1! 7.0x9.3
13" | | | | . | 3.9x5.3 | 34x45 3.6x47 | 3.0x40 5.8x7.8 | 47x63 7.4x9.8 | 52x7.0
fas% i 0 0 ] ] | 0.913x | 1.063x  1.014x | 1.214x  0.616x | 0.766x  0.488x | 0.688x
WD ' ' ' ' ' ! 343 ' 34 564 | 519 951 ' 834 1673 | 1321
0 V2 i i i i i 3 4.4x5.9 3.9%62  4.2x65 3 3.5x47 6.7x8.9 5.5x7.4 8.6x11.53 6.3x8.5
13" g g g g g ‘ 33x44 | 29x39 3.1x42 | 27x35 50x67 | 41x55 6.5x8.6 | 4.8x63
fiss i i i | : : 1.080x ' 1.230x  1156x | 1356x 0719 ' 0.869x  0.556x | 0.756x
WD 0 0 0 0 0 ; 306 | 325 530 | 494 866 | 775 1530 | 1241
P : : : : : 1 3.8x5.1 3.4x4.6  3.7x4.9 1 3.2x43 5.8x7.8 4.9x6.6 7.7x10.33 5.8x7.8
1/3" | | | | | | 29x3.8 | 26x34 2837 | 24x32 4.4x58 1 3.7x49 58x1.7 | 4.4x58
& ! ! ! ! ! ! 1.247% | 1397 1.299x | 1.499x  0.822x | 0.972x  0.623x ! 0.823x
wD 0 0 0 0 0 i | 504 | 474 800 | 727 1413 | 117.3
0 " : i i i i l : 33x4.4 | 29x3.9 5.2x69 | 45x6.0 69x93 | 5.4x7.2
1/3" ' ' ' ' ' ! ' 25x33 | 2229 3.95.2 | 3345  52x69 | 40x5.4
fs \ | i . | | | 1.442x | 1.642x  0926x | 1.075x  0.691x | 0.891x
WD d g d g i 1 0 482 | 457 748 . 688 1318 | 1115
5 2 i i i i i | i 30640 | 27x36 47x6.2 | 4.1x54 63x84 | 5.0x67
1/3" 0 0 0 0 0 ] 0 2.3x3.0 | 20x27 35x47 | 31x41 47x63 | 3.8%6.0
& : : : : : 1 0 1.584x | 1.784x  1.028x | 1.178x  0.758x | 0.958x
WD i i i i i | i 464 1 442 705 1 655 1238 | 1064
0 V2 ' ' ' ' ' ! ' 2837 | 2533 4267 | 37x6.0  58x1.7 | 47x62
13" 0 0 0 0 0 l 0 2.1x2.8 | 1.9x25 3.2x4.2 | 2.8x37 4.4x5.8 | 3.5x47
152 ' ' i i i i ' 1727% | 1927x  1.131x | 1281x  0.826x | 1.026x

DVL-LA OO

B (Bfimm)

— XEUE (k- -~ KR )
WD 103 1 130 ——> T{EIES
13 1419 11925 —> 1/3” HBHREEE

5
10 1824 | 24x32  — 1/27 HHIEERE
#E 025k 020x —> ESLMEE

v

BIREE (t)

22 HOURS

www.hours-web.com



Machine Vision Macro Lens /iRt (E s E 4 pE s L

DL-C Series MEFE. REAMM-T5mm, MEEEMIERL,
118 s10rms.

SUMIRRI, REERRL, TERNSEER.
L RIBHEENE,

REEENE: £FF. FNO5.6. FNO8.0

. EEEEMVE N E

M. IEE=57.7m/s2 (*1G=9.8m/s2)

HITERE =9.9Hz~1000HzD#ER (L3FEME )
= et g2 1= M 46
*mmia gEETIﬁﬁJE EEH[G DVL-MC %5
MCRIIMNESZUERS, EHEXANECIERLKNTE
EFEERER. I, ABHERHENESRMIRMIZ.
MCRIILLESHKCCTVEL BEAEIRBEIIR o HRRE, RAATRBRENTRA]
(B 240 /NEFML )
—fRCCTVE DVL-MC & 7% CCTV &3k s
ib m K(EEE
[E AN
0 2‘4 4‘18 7I2 5;6 1‘20 1‘44 1‘68 1‘92 2‘16 240
EE RSB ERE KeEZx@ERE

SRR R 2 LUK IR AR E B B R T ATEUBNEAR .

NARARSEMEE— D AZRILAERH,

/4 e EINS S R S AR SIS,
AR
/E}EIE":* L (PR F T RS AR IR S — 2.
\ REZA LSBT R F— R 5,
DVL-MC ZBIEATLHE.

IR R RN SR
BT Eafis
hniE 5G JiBES 20G
s N 5-500HZ iR N 5-500HZ
Afie) I 10min X 3axis gy I 32min X 3axis
3% I 1.0-2.0mm ¥z I 1.0-2.0mm
EEsREE EESREE
E 5G iz 20G
gz [N 5-500HZ = I 2000HZ
poie) N 10min X 3axis poie) I 32min X 3axis
9 I 1.0mm igE I 4.0mm
T s )
Iz 30G hniE 75G
B3 I emm Exiz I 8mm
RSiE N 20min X 3axis B R 90in X 3axis

HOURS %3

www.hours-web.com



Machine Vision Macro Lens DVL-MC Series

| R A EERS (R - - i)

HESEE (f)mm 4  mm (4.14)
403.2 (0.01x] 29.0 (0.01x] iﬁ%gtb S — 1: 20 oo
~ ~ =¥ S a ~ a
92.7 [0.04x] (WD) 29.2 (0.04x] 17.526 SesppEm x 001 : X 002 3 x 004
4 23" -
3-mh27 51 nx 7 4800 X_6400 mm | 2400 X 3200 mm | 1200 X 1600 mm
slot 1x1 .3 173" 360.0 X 4800 mm @ 1800 X 2400 mm @ 900 X 1200 mm
WD 4032 mm : 1962 mm | 927 mm
= RIEEES 4497 mm ; 2428 mm 1394 mm
S| -y DVL-4MC FNO: 2
I & (78 DVL-AMC-F5.6 ENET)
3 g B F mo: 8 ; ;
VEE (1/2") 023 % : 023 % ! 024 %
EATH 1/2'
EEOE M 27 P= 05
EE 44

449.7 [0.01x] ~139.4 (0.04x] (0/1)

DVL-6.5MC| DVL-6.5MC-F5.6
6.5

ERIEE (F)mm mm (6.7)
656.0 [0.01x] 23.1 00.01x] RAOREE 1: 22
~ ~23. . TEEE (2) X001~ X 0.06
98.0 (0.06x] (WD) 23.4 10.06x] 17, 526 oty X 001 T x_ 003 : X 006
4 23" -
slot 1x1 REF (VxH) 172" 4800 X 6400 mm | 1600 X 2133 mm | 800 X 1067 mm
1/3" 3600 X 4800 mm | 1200 X 160.0 mm | 60.0 X 80.0 mm
WD 6560 mm : 2096 mm 980 mm
= RIEIEES 696.6 _mm : 2503 mm 1389 mm
o PYoviesvc  EWBW o3 . 23 ;23 |
d E
5 g = P FNO: 8
o= ® TVRE (1/2") 016 % : 002 % ! 018 %
EATH 172"
prstiiAmEs M 27 P= 05
E3 36 g

696.6 [0.01x] ~138.9 (0.06x]) (0/I)

DVL-10MC | DVL-10MC-F5.6
10 mm (

SRR (F) mm 10.25)
504.1 £0.02x) 24.2 10.02x)' S AL, 1: 22
~59.9 [0.15x) (WD) ~25.5 [0.15x] 17 506 i:{;z X 002 © xo.oi 0.1 X’;ms X 015
4 23" ‘ - ‘
slot 1x1 3-th27-8.1 HEF (VxH) 12" 2400 X 3200 mm | 480 X 640 mm | 320 X 427 mm
6.8 — 13" 1800 X 2400 mm | 360 X 480 mm : 240 X 320 mm
WD 5041 mm : 940 mm : 599 mm
WIgIEEEE 5458 mm 1365 mm 1029 mm
= \ H“ 5 IR o2 ‘ ‘
iy H i@l DVL-10MC-F5.6 [JT0rT)
5 0 g N s 2 F FNO: 8
| oy = N - VEE (1/2") 004 % : -004 % : 007 %
Ea 172"
BROR M 27 P= 05
ount E3 4 40 g

545.8 [0.02x] ~102.9 (0.15x] (0/I)

DVL-15MC_ DVL-15MC-F5.6

FESIEES (F) mm 15 mm (15.01)
490.7 £0.03x) 27.9 0.03x) i{’;?ﬁgth O ew R
=M 0 A ~ ..
~40.3 [0.3x) (WD) _ ~32.0 (0.3x) 17.526 oy x_ 003 L x 02 i x 03
4 2/3" 2367 X 2800 mm 355 X 420 mm 237 X 280 mm
slot 1x1 3-th27-8.1 L (VxH) 1/2' 1600 X 2133 mm i 240 X 320 mm i 160 X 213 mm
1.6 1/3" 1200 X 1600 mm : 180 X 240 mm : 120 X 160 mm
WD 490.7 mm | 654 mm | 403 mm
v | RIEERE 536.1 mm : 1134 mm : 89.8 mm
7 Pyoviisvc  EWBN 0 21 24 i 26 |
4 \ s j58l DVL-15MC-F5.6 [00T3 58 ' 6.7 ' 73
2 & g o HE— = | I N0 8
® 9 F N / TVRE (1/2") -001 % 3 -013 % 022 %
EET 2/3"
REORE M _27 P= 05
MM 5 2 g
536.1 [0.03x) ~89.8 [0.3x] (0/I)

DVL-20MC | DVL-20MC-F5.6 DVL-20MC
ARSI (f) mm 20 mm (20.71)

516.8 [0.04x]) 24.5 [0.04x] wAOREEE 1: 20
~ ~32.0 (0.4x] TEseE X 004 ~ x 04
50.7 (0.4x] (WD) 17.526, iy < oot : < o3 : o4
0 273" 1775 X 2100 mm 284 X 336 mm 178 X 210 mm
glot 1x1 4, 27t HLEF (VxH) 12" 1200 X 1600 mm | 192 X 256 mm . 120 X 160 mm
13" 900 X 1200 mm i 144 X 192 mm i 90 X 120 mm
= WD 5168 mm ! 81.8 mm ! 50.7 mm
L;J B 558.8 mm : 128.2 _mm : 100.2 _mm
s & 5 I % I Fro:s.6 58 i 70 1 78
e e = F FNO: 8
TVRE (1/2") 21 -001 % } -019 % } 025 %
EETH 2/3"
C-nlount BEOR M 27 P= 05
Ea 36 g

558.8 [0.04x] ~100.2 [0.4x] (0/1)

24 HOURS

www.hours-web.com




DVL-25MC  DVL-25MC-F5.6

514.6 (0. 05x)
~55.6 [0.5x]

27.0 (0. 05x)

(WD) ~38.5 [0.5x]

17. 526,

slot 1x1

4

¢ 31
$29

M27 P=0.5

DVL-30MC

513.5 [0.06x]
~80.1 (0.45x)

(WD)

DVL-30MC-F5.6

24,5 [0.06x]

~36.2 [0.45x) 17,

526,

3-mh27 8.1

@31
29
M27P=0.5

ount

555.5 (0.06x] ~133.8 [0.45x] (0/)

DVL-35MC DVL-35MC-F5.6

163.9 (0. 26x]

32.0 [0.26x]

~83.1 (0.65x) (WD) __~45.7 (0.65x)_ 17.52%
slot 1x1 4 3-h27 8.1
0]
o)
& \
B
g 8 g - T
C-mount
213.4 [0.26x) ~146.3 [0.65x) (0/D)

DVL-50MC DVL-50MC-F5.6

633.6 (0.08x) 44.0 [0.08x]

~128.7 [0.48x) ~63.4 (0.48x] 17.526,

(WD)

4 17 _|4

slot 1x1 2.5

L] .

(=]

5 X
- o ~ e
3898 11— — 1 &

DVL-75MC

562.900.14x]

DVL-75MC-F5.6

~153. 80.62x 70.0 [0.14x] ~105.5 [0.62x) 17.526
(WD)
slot 1x1 35.5 4.
o] E
ISy E
z £
K =H =

650.4 [0.14x] ~276.8 [0.62x] (0/1)

Machine Vision Macro Lens DVL-MC Series

DVL-25MC

FERIERS (H)mm 25  mm (25.50)

BAORELE 1: 20

TEEE X 005 ~ X 05

SR X 005 Lox 025 : X 05
2/3" 1420 X 1680 mm 284 X 336 mm 142 X 168 mm

HLEF (VxH) 12" 960 X 1280 mm | 192 X 256 mm | 96 X 128 mm
13" 720 X 960 mm i 144 X 192 mm: 72 X 96 mm

WD 5146 mm 106.6 mm 556 mm

WHREIEE 559.1 mm 1563 mm 111.6  mm

B Dvisvc Lt

g oviasmcFsefE  so 1 70 i 84 |

F FNO: 8

TVERE (1/2") 006 % : 006 % | 012 %

BEBATH 2/3"

EEOE M 27 P= 05

58 38 g

£ S HEES (F) mm 30 mm (30.00)

BEAO&LE 1: 20

TEERE X 006~ x 045

plrc - ES X 006 ' X 025 ' X 045
2/3" 1183 X 140.0 mm ) 284 X 336 mm ) 158 X 187 mm

HLEF (VxH) 1/2" 800 X 1067 mm i 192 X 256 mm : 107 X 142 mm
1/3" _60.0 X 80.0 mm 3 144 X 192 mm 3 80 X 107 mm

WD 5135 mm | 1335 mm 80.1 mm

MIRIEERS 555.5 mm 181.2 _mm 133.8 mm

Y DVL-30MC FNO: 2

DVL-30MC-F5.6 [i\es%]

FNO: 8
TVRE (1/2") 01 % : 007 % ' 009 %
EATH 2/3"
REOR M 27 P= 05
EE 39 g
£ RIEES (F) mm 35 mm (35.04)
BAOREE 1: 19
TfEsEE X 026 ~ X 065
NFER X 026 ! X 045 ! X 0.65
23" 273 X 323 mm__ 158 X 187 mm _ 109X 129 mm
HLEF (VxH) 12" 185 X 246 mm ! 107 X 142 mm ! 74 X 99 mm
173" 139 X 185 mm . 80 X 107 mm: 55X 74 mm
WD 163.9 mm 107.0 mm 83.1 mm
MiRIEEE 134 m 1632 mm 1463 mm
EY DvL-35MC
DVL-35MC-F5.6 [IERS 7.1 ' 8.1 ' 9.2
FNO: 8 ‘ ‘
TVRE (1/2") 003 % ' 000 % ! 001 %
EADH 2/3"
RO M 27 P= 05
= 43 g
£ REEES (F) mm 50  mm (48.48)
HBAORELE 1: 25
TEERE X 008 ~ X 048
P x 008 : x 03 : X 048
2/3" 888 X105.0 mm 237 X 280 mm 148 X 175 mm
HREF (VxH) 172" 600 X800 mm . 160 X 213 mm: 100 X 133 mm
/3" 450 X 600 mm | 120 X 160 mm | 75 x 100 mm
() 6336 mm 1893 mm ! 1287 mm
KIEEE 695.1 mm 261.5 mm 209.6 mm

s DVL-50MC FNO: 2

DVL-50MC-F5.6 [{{0R¥

FNO: 8
TVRE (1/2") 004 % : -001 % 001 %
BEBETH 2/3"
BEOR M _27 P= 05
8 60 g
EERBERS (F)mm 75 mm (73.98)
HEAOREE 1:38
TESEE X 014  ~  x 062
SeFER x 014 : x 04 : x 062
2/3" 507 X 600 mm 178 X 21.0 mm 115 X 136 mm
HLEF (VxH) 172" 343 X 457 mm . 120 X 160 mm . 77 X 103 mm
1/3" 257 X 343 mm 90 X 120 mm | 58 X 77 mm
WD 5629 mm 2195 mm 1538  mm
gEEES 6504 mm 3262 mm 2768 mm

s DVL-75MC FNO: 2
% IASEE (SR FNO: 5.6
H

FNO: 8
TVEE (1/2") 003 % : -001 % : 002 %
Ea 2/3"
piti mEE] M 27 P= 05
£y 80 g

HOURS 2°

www.hours-web.com



Machine Vision Macro Lens / sefz@isassL

DMC Series (¢16EEEZR)

RN RS

0.1x~2.0xFE 154 7

Rt TEZERRENEO/I
FREERTUSSETEWD, BFR

—
AR B TER

. HfEE . IEBEORT

VS-PZ16-1 SV-FAD-TC16/255 DMC-01-330
| —

]
325.516 (WD) 21.5 17. 526,

214
A t
§ @/ SV-FAD-TC16/255
m . oj T | ‘CV?
1 — a Sy
! 1 % O O s
o wxmE -
| B — e e
« REESNG. EREHS. BEATRIATEARA.  Rooors (@ G @ 384,50/
FHRREIRBIHER R, EEFERERXAITME. ' Comount
DMC-03-100 DMC-03-135 DMC-03-180
105, 84500) s . 138. 7::6 (D) 34.7 17.526 18489 (D) 162 17526
24 24 214
- N - B =
3 ° = H-—-—1BH - g | R I
| N K ‘ S :
e 3 A
152.80/1) 190.90/1) 248.50/1)
ommount G-mount C-mount
DMC-05-65 DMC-05-90 DMC-05-130
69. 1223 (WD) 35 17. 526, 93. 8=:4 (WD) 4.5 17.526 126. 3:£4 (WD) 55 17.526
2_ 14 2 |4 2, |4
5 - <5 = .
S T 2 g ——Hir 3 e e e
e U Y
121.6(0/1) 152.80/1) 198.8(0/1)
C-mount C-mount C-mount

DMC-01-330 DMC-03-100 DMC-03-135 DMC-03-180 DMC-05-65 DMC-05-90 DMC-05-130
SeEpER 0.1x 0.3x 0.3x 0.3x 0.5x 0.5x 0.5x
MIH2/3"(VxH mm) 66.0x88.0 22.0x29.3 22.0x29.3 22.0x29.3 13.2x17.6 13.2x17.6 13.2x17.6
MIH1/2"(VxH mm) 48.0x64.0 16.0x21.3 16.0x21.3 16.0x21.3 9.6x12.8 9.6x12.8 9.6x12.8
MIF1/3"(VxH mm) 36.0x48.0 12.0x16.0 12.0x16.0 12.0%16.0 7.2x9.6 7.2x9.6 7.2x9.6
WD (mm) 325.5 105.8 138.7 184.8 69.1 93.8 126.3
YIRIEIEEES O/1(mm) 364.5 152.8 190.9 248.5 121.6 152.8 198.8
S F 4.43 5.16 5.27 5.29 5.95 6.08 6.10
N.A. 0.011 0.029 0.028 0.028 0.042 0.041 0.041
2% (mm)  *1 35.4 4.6 4.7 4.7 1.9 1.9 2.0
TVXkE 0.01% 0.00% 0.00% 0.00% -0.02% 0.00% 0.00%
sFFCCD/ENA 2/3'F/CiEO 2/3'WUT/CHN 2/3'"AT/CE¥NA 2/3'WF/CEO 2/3'WF/CiEO 2/3"WF/CEO 2/3'WF/CO

1 HEE(FFHEELER 0 0.04mm).

26

HOURS

www.hours-web.com



Machine Vision Macro Lens DMC Series

I wDtt®&
WD
©® DMC-01-330
300
200
¢ DMC-03-180
”””””””””””  DMC-03-135 ~~~~ eDMC-05-130 | oo
100 — T——— 1 DMC=03-100 ¢ DME-05-90 ¢ Mo [
@ DMC-075-70 ¢ bMmc-1-80
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, eDMC-05-65 T TTTTTIT o pMC-160 - ®DMC-15-65 & pMc-2-60- -
50 DMC-075-50
77777777777777777777777777777777777777777777777777777777777777777777777 ¢ DME-140———— ——————————————]
x0.1 x0.3 x0.5 x0.75 x1.0 x1.5 x2.0
DMC-075-50 DMC-075-70 DMC-075-100
50. 82 (WD) 41.8 17.526, 71. 33 (WD) 49.9 17. 526, 97. 1=£4 (WD) 65.9 17.526,
2_ 14 2_ 14 2, |4
= e -
2 [ IR I 1| N— 3 © J I I =1 N 2 < ) I = | E
| | | S ; ©
S e Ny
110.1(0/1) \ 138.7(0/D) 180.5(0/1)
C-mount C-mount C-mount
DMC-1-40 DMC-1-60 DMC-1-80
41. 72 (WD) 48.1 17.526, 60. 13 (WD) 58.3 17.526, 82.4=+2.5(WD) 76.9 17. 526,
214 214 2 4
% _ = - o3
© =3
2 N R B 1 8 e O L] 8 ) e _ 3
RSy RSt RSy S| s Py
107.9(0/1) 135.9(0/1) 176.8(0/1)
C-mount C-mount C-mount
DMC-1.5-65 DMC-2-60
64. 82 (WD) 101.8 17. 526, 57,52 (WD) 123.8 17.526,
2 |4 2_ 14
- . . .
2 T T T~ —— 3 ° T — 7T | ————————— 8- 3
S S
Y Ny
184.1(0/1) 198.8(0/1)
G-mount C-mount

DMC-075-50 DMC-075-70 DMC-075-100 DMC-1-40 DMC-1-60 DMC-1-80 DMC-1.5-65
FEfER 0.75x 0.75x 0.75x 1.0x 1.0x 1.0x 1.5x 2.0 x
M72/3"(VxH mm) 8.8x11.7 8.8x11.7 8.8x11.7 6.6x8.8 6.6x8.8 6.6x8.8 4.4x5.9 3.3x4.4
M71/2"(VxH mm) 6.4x8.5 6.4x8.5 6.4x8.5 4.8x6.4 4.8x6.4 4.8x6.4 3.2x4.3 2.4x3.2
MiH1/3"(VxH mm) 4.8x6.4 4.8x6.4 4.8x6.4 3.6x4.8 3.6x4.8 3.6x4.8 2.4x3.2 1.8x2.4
WD (mm) 50.8 na 971 41.7 60.1 82.4 64.8 575
YREBEE O/l(mm) 110.1 138.7 180.5 107.9 135.9 176.8 184.1 198.8
EMF 5.75 6.80 710 6.58 7.80 8.14 10.00 12.10
N.A. 0.065 0.055 0.053 0.076 0.064 0.061 0.075 0.083
2R (mm) *1 0.8 1.0 1.0 0.5 0.6 0.7 0.4 0.2
TVXE -0.03% 0.00% 0.00% -0.04% 0.00% 0.00% 0.00% 0.00%
FACCD/ED 2/3"BAF/CHEO 2/3"AF/ICHEO 2/3" AT /ICEO 2/3"AF/ICEO 2/3"BAFICED 2/3"B T /ICHEO 2/3"BAF/ICEN 2/3"BAFICED

1 T EAE (BIFEELETE 0. 04mm)

HOURS 2/

www.hours-web.com



Machine Vision Macro Lens DMZL Series

DETE=T

DMZL-02406

221.0 £0.24x) ~105.9 [0.6x] (WD) _49.3 [0.24x] ~65.9 [0.6x] 17.526
TEEE 0.24x~0.6x
6 21 4 FKREE 0.25x i 0.4x | 0.5x
#352/3' (VxHmm) 26.4x35.2 | 16.5x22 | 13.2x17.6
2.2 HIH1/2' (VxHmm) 19.2x25.6 12x16 | 9.6x12.8
#I71/3' (VxHmm) 14.4x19.2 | 9x12 ! 7.2x9.6
EEK 49.8 ! 56.7 ! 61.3
<3 WD (mm) 213.3 | 144.3 ! 121.2
o & EEEE O/1(mm) 280.7 | 2185 ' 200.4
wl al THF 4.0 . 4.4 ' 4.8
S= T S g NA 0.031 ! 0.045 | 0.052
SR (mm) *1 5.1 ! 2.2 i 1.5
TVERE 0.1%
_#7cep /#0 2/3WTF / CE¥O
C-mount 1 W EE(RIFEELERE 6 004mm)
287.8 (0. 24x) ~189.3 [0.6x) (0/1)
DMZL-02406S
218.1 0.24x) ~103.0 (0.6x) (WD) _ 52.2 (0.24x] ~68.8 (0.6x) 17.526
DMZL-02406S
6 21 4
I 0.24x~0.6x
MZII;ti;gkrisr(]:rew LA 0.25x ! 0.4x 0.5x
<ris ring 352/3' (VxHmm) 26.4x36.2 16.5x22 13.2x17.6
#MIH1/2' (VxHmm) 19.2x25.6 | 12x16 9.6x12.8
HIH1/3' (VxHmm) 14.4x19.2 | 9x12 7.2x9.6
EEK 52.7 i 59.6 64.2
WD (mm) 210.4 | 141.4 . 118.3
> g 8 WG IEIEERS O/1(mm) 280.7 | 218.5 200.4
© o ® T F 4.0 1 4.4 4.8
NA 0.031 ! 0.045 i 0.052
R (mm) 1 5.1 ! 2.2 1.5
TVERE 0.1%
C-mount #ACCD / #0 2/3WTF / C#O
1 W EE (R IFHEELEE $ 0 04mm)
287.8 [0.24x) ~189.3 [0.6x] (0/1) :
121.3 [0.5x) ~75.3 (1.0x] (WD) 61.3 (0.5x) ~84.3 [1.0x] 17.526
6 28 4 TiEEE 0.5x~1.0x
I FPEE 0.5x ' 0.75x 1.0x
I52/3' (VxHmm) 13.2x17.6 8.8x11.7 6.6x8.8
IH1/2' (VxHmm) 9.6x12.8 | 6.4x8.5 4.8x6.4
o #3751/3' (VxHmm) 7.2x9.6 | 4.8x6.4 3.6x4.8
S8 EEK 61.6 j 72.8 84.7
T7 WD (mm) 121.3 i 90.5 75.3
o Lo I I S Yi&iE8EE 0/1(mm) 200.1 | 180.8 177.1
At | THF 4.8 : 5.9 6.4
NA 0.052 ! 0.063 0.078
=R(mm) 1 1.5 ' 0.8 0.5
TVERE -0.01%
|C-mount _FkFCCD / #0 2/3'WT / C#EQ
1 EE (R IFHEELEE $ 004mm)
200. 1 0.5x] ~177.1 (1.0x] (0/1) .
DMZL-0510S
118.4 (0.5x) ~72.4 (1.0x) (WD) 64.2 (0.5x) ~87.2 (1.0x) _ 17.52
TR 0.5x~1.0x
M2 Lock screw 6 38 4 f;ﬁﬁ( ) 0.5x 0.75x 1 1.0x
Tris rine M372/3' (VxHmm 13.2x17.6 8.8x11.7 | 6.6x8.8
Lris ring, IF1/2" (VxHmm) 9.6x12.8 6.4x8.5 | 4.8x6.4
MIF1/3' (VxHmm) 7.2x9.6 4.8x6.4 ! 3.6x4.8
BEE 64.5 75.7 ! 87.6
WD (mm) 118.4 87.6 ! 72.4
_ N P& EBER O/1(mm) 200.1 180.9 ‘ 177.1
s " & 3 F 4.8 5.9 | 6.4
© i ® NA 0.052 0.063 \ 0.078
FR(mm) *1 1.5 0.8 ] 0.5
TVHRE -0.01%
_#%ceD /#0 2/3'WT / cEO
|G-mount 1 T EE (FIFEELER ¢ 0 04mm)
200.1 £0.5x) ~177.1 (1.0x) (0/1)

28 HOURS

www.hours-web.com



1" Ruggedized Macro Lenses / &Rt 1 %nd & B S i EeEsk

DVL-MH1 Series [HIEH

- IJERERALEEIFno 1.4/5.6/81

o NEEHRERFAEE SR, N OEhEE

. $EEEREO - EEREIR - ETERIRE ANy, RANAE) MR 5, AR Stha EIRE(HED
. f8-f12 - f16 - f25 - 35 - f50 NIEEEIEHIE

HEERGRBESEIRLT, BIABILLEE (F1.4/F5.6/F8)

' I RAEEINT
oé -

du

[ I :;y -2 5.1
Hs=1 T i
Ip.is= Lu o =
C-mount e

DVL-16MH1 DVL-25MH1

4 14 e 3-h32-8.1

5

430, 5 P=0,
11
T

! D

w o e

< i § & g © w0

2 8| s 2 = <

B I:l A B ©
S 8

MS(}ISP‘OT
I 1T
Ll

L

C-mount
C-mount

DVL-35MH1 DVL-50MH1

35 17. 526,

44.5 17. 526,

S
=
=

e R—
i H—] i
ol o 2 I
g g 1 g s 5 H
s 2 s g 3 3 1
] s
. I
—
s
C-mount —

DVL-08MH1 DVL-12MH1 DVL-16MH1 DVL-25MH1 DVL-35MH1 DVL-50MH1
A SRR (H)mm 8 mm 12 mm 16 mm 25 mm 35 mm 50 mm
SEAORLE 1:1.4 1:1.4 1:1.4 1:1.4 1:1.4 1:1.8
&R0 72.7° x 72.7° 50.8° x 50.8° 38.6° x 38.6° 25.1° x 25.1° 18.3° x 18.3° 12.8" x 12.8°
EJEWD 100 mm 300 mm 300 mm 300 mm 300 mm 500 mm
TVERE (1) -0.35 % -0.32 % -0.65 % -0.46 % -0.31 % -0.01 %
e & Manual Manual Manual Manual Manual Manual
A< Visible Visible Visible Visible Visible Visible
#n C-Mount C-Mount C-Mount C-Mount C-Mount C-Mount
BATH T E T iz i E
REOR M55 P=0.75 M35.,5 P=0.5 M 305 P=0.5 M30.5 P=0.5 M30.5 P=0.5 M40.5 P=0.5
EE 9g 1069 100 g 669 72g 9% g

¥ F1.4/F5.6/F8 £RRAATIERZRS

HOURS 2°

PEEE————
www.hours-web.com



Machine Vision Macro Lens UV - IR{Efzs:L

DVL-UV & IR Series

EEMIE T LA S A
FBGIH U SRAME (366mm ) IR

BB RE NS T LA 5568 A
FRRRETLUEROGENRK, SXLERK

AT SEERBE + AT e Sk

IREBBE+IRE L

o3l

' TR

DVL-HCO00303NS-UV YR 3=

520.1 0.03x) 27.9 £0.03x
~38.1 00.3x] (WD) _ ~32.4 (0.3x] 17.526, DVL-HC00303NS-UV % T [ it
4 &R 0.03x ~0.3x 100
2-M2 Lock screw &L ik 0.03x 0.1x ! 0.3x
T— HF1/2" (VxHmm)  160,0x213.3. 48.0x64.0 | 16.0x21.3
s #471/3' (VxHmm)  120.0x160.0' 36.0 x48.0 | 12.0x16.0
g o | [ F j S WD (mm) *1 520.1 144.1 38.1 S0
® = 5 e TVAHE 0.01% T
&It 320nm ~420nm
Iris ring - Comount F#&CeD /#N /2T / c#0 0 nm
565.5 (0. 03x) ~88.0 (0.3x) (/1) *1 EB 860nm 300 400 600 800 1000 1200
DVL-HC00510S-UV WR:3-=L
157.1 0. 4x)
~88.1 (1.0x40D)__52.3 (0.4x) ~79.9 (1.0x)_ 17,526 DVL-HC00510S-UV %7 [ sttt ]
M2 Lock screw M2.6 Lock screw 4 EfEE 0.4x~1.0x 100
Iris ring 7.1 FREE 0.5x 0.75x 1.0x
#F1/2 (VxHmm)  9.6x12.8 | 6.4x8.5 | 4.8x6.4
WIF1/3 (VxHmm)  7:2x9.6 | 4.8x6.4 | 3.6x4.8
_ ol wo(mm) 134.1 103.4 88.1 50
S 1S 8 Tvam 0.00% 0.07%
BT 320nm ~420nm
. $#AECCD /#0 1/2WF / ciE0 0 nm
G-mount *1 BRER }860nm 300 400 600 800 1000 1200
226.9 0.4x) ~185.5 (1.0x) (0/1)
= 527
I BEERRE
DVL-HC2-65UV365 LUt ES) DVL-HC3-65UV365 mVE: 3=
64. 02 (WD) 62.9 - 17.526, 65. 32 (D), 87 17,526, | DVL-HC2-65UV365 | DVL-HC3-65UV36s |
. 35.5 45 6.5 e
3-M3 Set screw 303 Set sorew FEER 2.0x 3.0x
M - AIF1/2" (VxH) 2.4x3.2 1.6x2.1
- SEHF 9.40 9,27
T 5 2 S| WD (mm) 64.0 65.3
© —_ - —1 3] € U | NS S | 7| . .
b M s \d S 0/ (mm) 144.4 169.8
L L TVERE 0.1%
© > S e
C-mount o Comount gt 365nm _
144.4(0/D) 169.8(0/1) #FACCD /N /2T / c#O
yd 1 EAR = s (=2 327
I TN~ IEOEITN R ERE
DVL-HCO1303IR W¥E~=E= DVL-HC01303IR
DVL-HCO01303IR #Z& FEEEE 0.13x~0.3x
BETMHNTE (400nm) ~ELHMBE (950nm ) MR, TR, IBLINBERAMERSL. HEAfEER 0.13x 0.2x 0.3x
ABPELENERNERTNSEIIMEE SHEEWD, ERUHRLEANBAETR 1" 86.6x86.6mm | 56.3x56.3mm | 37.5x37.5mm
~IEANTIR B 2, TUTEBHIRE. MBAV x H) 2/3" 54.6x64.6mm ' 35.5x42.0mm ' 23.7x28.0mm
METHBCEENRRER ¢ 22mmBIkRE . FrllBeEsd i CENNRGRBN. 172" 36.9x49.2mm | 24.0x32.0mm | 16.0x21.3mm
176.3 (0. 13x] 20.3 (0. 13x) WD‘ 176.3mm 115.7mm 78.2mm
~78.2 [0.3x] (WD) _ ~24.3 (0.3x)17.526, Transmittance (%) M&REEREO/ 214.1mm 156.3mm 120.0mm
E/ . 100 LHF 4.0 4.2 4.6
NA 0.016 0.024 0.033
N 2R 1 18.9mm 8.4mm 4.1mm
. =
§ ] 3 | 50 TVERERE 0.10%
BIHRE Visible ~ Near IR
O C-Mount
214.1 00.13x] C-mount 0 nm _
~120.0 (0.3x) (0/1) 350 400 600 800 w000 | BB 022 mm
B8 409
1 AFHEEE©0.04mm

30

HOURS

www.hours-web.com



